N50 Calculator Display Questions
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8 (a) Calculate \3f582+ 11.

(b) Work out the number of seconds in a year.
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8 (a) Calculate \3f582+ 11.

(b) Work out the number of seconds in a year.

Mmn X }ﬂr X da/ X Mear

00 %80 XU XS 5 < 500

ooooooooooooooooooooooooooooo
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10 (a) Put brackets into these calculations so that the answer is correct.

i) 70-25+9%x3 =15 [1]

(i) 6x8—-5+14 =32 [1]

(b) Calculate.
46.3+89.4

15— 3.1

Give your answer correct to 3 significant figures.
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10 (a) Put brackets into these calculations so that the answer is correct.

0 (70-28+9x3=15 ./ (1
5 2N KR =S &
) 6x(8—5+14 =32 (1

bx S+ =737
(b) Calculate.
46.3+89.4

15-3.1°

Give your answer correct to 3 significant figures.

2517625
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(a) (i) Byrounding each number correct to 1 significant figure, estimate the value of the following.
Show all your working.

12.3 +7.92
9.6 x0.625

(ii) Work out.

123+ 752
9.6 x0.625

Give your answer correct to 1 decimal place.



9
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(a) (i) Byrounding each number correct to 1 significant figure, estimate the value of the following.
Show all your working.

12.3+7.92

360625 O + % ﬁ

o ok~ " =5

(ii) Work out.

123+ 752
9.6 x0.625

Give your answer correct to 1 decimal place.

574



3 Calculate.

NSO (a)

3.6

1.4—10.3
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3 Calculate.

N0 (@) .3;6‘ & o B 4
1.2-0.3 ﬁ’ -

) RS l ........................... [1]
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(b) +/12.25°

N 50 Give your answer correct to 1 decimal place.

N2b



Created by W Neill

(b) V1225

NSO Give your answer correct to 1 decimal place.

| L&Q%}76

|
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Calculate.

2 2
() \/4.8 23.6
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1
NS0

Calculate.

2 2
(@) \/4.8 -53.6
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4.36 + 28

15 (a) Work out —
6.8 —5.42

Give your answer as a decimal.
Write down all the digits on your calculator display.

(b) Give your answer to part (a) correct to 1 decimal place.

(Total for Question 15 is 3 marks)
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4.36 + 28

15 (a) Work out —
6.8 —5.42

Give your answer as a decimal.
Write down all the digits on your calculator display.

(b) Give your answer to part (a) correct to 1 decimal place.

(Total for Question 15 is 3 marks)




19 (a) Use your calculator to work out the value of

N50 \/5 T T
9.67 + 84.9

Write down all the digits on your calculator display.

(b) Write your answer to part (a) correct to 2 significant figures.

N27
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19 (a) Use your calculator to work out the value of

N50 \/5 1.9-—-3738
9.67 + 84.9

Write down all the digits on your calculator display.

ORR22767 Sgi/

(b) Write your answer to part (a) correct to 2 significant figures.

N27
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vi13.4-15

12 Find the value of ~
(6.8 +0.06)"

Write down all the figures on your calculator display.

(Total for Question 12 is 2 marks)
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vi13.4-15

12 Find the value of ~
(6.8 +0.06)"

Write down all the figures on your calculator display.

0-07330RSGOR|

............................................................ P —
(Total for Question 12 is 2 marks)
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8 (a) Find the value of +/1.44 x 3.61

NSO

(b) Find the value of (3.54 —0.96)* — 4.096
NSO
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8 (a) Find the value of J1.44 % 3.61

NSO

(b) Find the value of (3.54 —0.96)* — 4.096
NSO
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V17 + 47

(b) Work out .
7.3

N50
Write down all the figures on your calculator display.
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V17 + 47

(b) Work out .
7.3

N50
Write down all the figures on your calculator display.
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7 (a) Find the reciprocal of 5

(b) Use your calculator to work out I5tan 60° + 1
Write down all the figures on your calculator display.
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7 (a) Find the reciprocal of j}
|

!
€

(b) Use your calculator to work out I5tan 60° + 1
Write down all the figures on your calculator display.

2179751359 P
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(6.67 x10™") x (7.35 x 10%)
(1.74 x 10%)?

9 Find the value of

Give your answer correct to 1 decimal place.

N48
N50

(Total for Question 9 is 2 marks)
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(6.67 x10™") x (7.35 x 10%)
(1.74 x 10%)?

9 Find the value of

Give your answer correct to 1 decimal place.

- b) 9

N48
N50

(Total for Question 9 is 2 marks)
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sin25° + sin40°
c0s25° — cos40°

8 Use your calculator to work out \/

(a) Write down all the figures on your calculator display.

(b) Write your answer to part (a) correct to 2 decimal places.

(Total for Question 8 is 3 marks)




$in25° + sin40° Created by W Neill

c0s 25° — cos40°

Use your calculator to work out \/

(a) Write down all the figures on your calculator display.

075603957

(2)

(b) Write your answer to part (a) correct to 2 decimal places.

(Total for Question  is 3 marks)
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5 (a)
NSO

5 (b)
N1b

Use your calculator to work out V701 as a decimal.

Write down your full calculator display.

Answer

Video created by W Neill

[1 mark]

Give your answer to part (a) to 1 decimal place.

Answer

[1 mark]




5 (a)
NSO

5 (b)
N1b

Use your calculator to work out V701 as a decimal.

Write down your full calculator display.

Answer Q(? Li7é> U(OQSC[

Video created by W Neill

[1 mark]

A
2b-\[16

Give your answer to part (a) to 1 decimal place.

Answer 2 6 - g

[1 mark]




Video created by W Neill

12 Work out \V7.5% +182

Circle your answer.
NS0 [1 mark]

19.5 25.5 331.5 380.25
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12 Work out \V7.5% +182

Circle your answer.
NS0 [1 mark]

25.5 331.5 380.25



13 (a)

N50

13 (b)

N28
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18 953 x 437

Use your calculator to work out the exact value of 11

[1 mark]

Answer

Use approximations to 1 significant figure to check if your answer to part (a) is sensible.
[3 marks]



13 (a)

N50

13 (b)

N28

Use your calculator to work out the exact value of

Answer
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18 953 x 437

1
[1 mark]

752 as,

Use approximations to 1 significant figure to check if your answer to part (a) is sensible.

20,000 xLOO

[0

YCS, [‘[75 not { G

awey So sens,ble.

[3 marks]

‘qelolelelol

®

KO0,006
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5 Work out the value of 3% _ V841
[2 marks]

N50

Answer
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5 Work out the value of 3% _ V841
[2 marks]

N50

T - 724 779 - 29
(3Ll = 29

Answer 70 O
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14 (a) Use your calculator to work out 9.952x 298
Give your answer as a decimal.
NS0 Write down your full calculator display.
[1 mark]
Answer
14 (b) Is your answer to part (a) sensible?
Use approximations to decide.
NZ28 _
You must show your working.
[3 marks]

Tick a box.

Sensible Not sensible
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14 (a) Use your calculator to work out §.952 x 29.8
Give your answer as a decimal.
NS0 Write down your full calculator display.
[1 mark]
o LAS0 . 2724S
14 (b) Is your answer to part (a) sensible?

Usto decide. — |SL
N28 i — ) L 01
ou must snow your Wor Ing. K % 30
[3 marks]

Tick a box.

et

\/ Sensible Not sensible
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26 An approximation for the value of 7 is given by
N50 41_22+22_22+22_22]
57 85 105 117 242

Use your calculator to show that this approximation is within 0.1 of 3.14
[2 marks]
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26 An approximation for the value of 7 is given by
N50 4(1_22+22_22+22_22]
57 85 105 117 242

Use your calculator to show that this approximation is within 0.1 of 3.14

30L(R 2
+ 0|

3[ b& \83 whidy s more jfhm 2/4
So 36/ {t S talhin O-| v

[2 marks]




